STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +28.4/-32.2

MAX WIDTH: 16'-2"

4" J. C. VOELKEL

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

133174

8

7 I

‘( 0...
Oa% /CENSEN R

‘\f\ \ °NA\_’€‘“\-"'

A"

Digitally signed by
John Christian Voelkel
Date: 2021.05.03
10:30:21 -05'00"

8 7 6 4 3 | 1
REVISIONS
[> NOTES ® [ DATE APPROVAL |
1. STANDARD GLAZING OPTION — .125" WL 003} v Llasse0e1] TLC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC Y [4c27/21 ] TLC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
QNZNG 1 NOT RMPACT RESISTANT AN, BoES —
MPA ANT Al
NOT MEET THE REQUIREMENTS FOR 13 GA HORIZ ANG'-E\
WIND—BORNE DEBRIS REGIONS.
N
2. ALUMINUM FULL VIEW OPTION — ALUMINUM
FULL VIEW SECTION MAY REPLACE ANY @DOOR |
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUNINUM FULL VIEW SECTION SHALL HAVE 15 GA MIN HORIZ —_ |
RAILS AND STILES OF EXTRUDED ALUMINUM TRACK H
ALLOY 6063-T6 WITH A 2—1/4" INTEGRAL FIN I
AND 125" MINIMUM DSB GLAZING INSTALLED 13 GA CONTINUOUS ﬂ 14
WITH ALUMINUM RETAINERS IN ORDER TO WALL ANGLE
MEET UNIFORM STATIC DESIGN PRESSURES § W | Jr
SHOWN ON THIS DRAWING. AFV PANEL SIZE IS <& . ]
47.5"%21.9" (MAX). GLAZING IS NOT IMPACT 15 GA MIN VERT —__ | : \ M [
RESISTANT AND DOES NOT MEET THE TRACK . \ : Lo R
REQUIREMENTS FOR WIND—BORNE DEBRIS H | hd N
REGIONS. 5/16%1-5/8" : - ! 1
3. MINIMUM OF 1° OVERLAP ON BOTH JAMBS LAG SCREW AT EACH : 20 GA CENTER STILE 2.
HOLE LOCATION FOR
REQUIRED TO MEET NEGATIVE DESIGN WOOD SUBSTRATE. See a . ke
PRESSURES. . H
SHEET 3 FOR MOUNTING i
4. SLIDE LOCKS OR OPERATOR REQUIRED. TO OTHER SUBSTRATES. w T
5. SECTION STEEL TO HAVE THE FOLLOWING / -
MINIMUM_THICKNESS: \ Ji
421, 423 — 20 GA . ' kd
427, 429~ 24 GA oo a0 e 20 he o
g NUT AT EACH TRACK H d s
cup LOCATION H m I 20—
6. THE DESIGN OF THE SUPPORTING H D
STRUCTURAL ELEMENTS SHALL BE THE (SEE DETAIL A SHEET 3) 20 GA WOOD FILLED H
RESPONSIBILITY OF THE PROFESSIONAL OF _/ oy SHEET 3/
RECORD FOR THE BUILDING OR STRUCTURE 11 GA TRACK CLIPS : E
AND IN ACCORDANCE WITH_ CURRENT BUILDING (WELDED, BOLTED, OR H 2 N
CODES FOR THE LOADS LISTED ON THIS R Ten DAy — / ;
DRAWING.
ANGLE) SEE NOTE 7 AND 1 i :
7. TRACK CUPS SHALL BE LOCATED WITH DETAIL F SHEET 3 H
CENTERLINE OF BOTTOM CLIP SPACED 10" SUDE LOCK BOTH ENDS— ! | -
MAX FROM BOTTOM OF TRACK AND REMAINING (NOT REQUIRED WITH %
TRACK CLIPS SPACED AT 24" 0.C. MAX. OPERATOR — SEE NOTE 4) s Lo
SPACING BETWEEN TOP TRACK CLIP AND H ] Ad
SPLICE PLATE SHALL BE 30" O.C. MAX. : H F1
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. v
REFER TO JAMB CONNECTION SUPPLEMENT H
FOR ATTACHMENT TO SUPPORTING i
STRUCTURE. => >
[} <
H
K
NOTE:  (4) SECTION SOLID DOOR . Lo
SHOWN. SEE SHEET 2 FOR U—BAR H ] d °
LOCATIONS ON DOORS WITH OTHER H H I 7y
SECTION QUANTITIES AND SEE NOTES 1 o H
SUPERIMPOSED DESIGN PRESSURE & 2 THIS SHEET FOR GLAZING ﬁ i S,
LOADS ON SUPPORTING STRUCTURE OPTIONS. 1 ! W :
MAX [ poor MAX UNIFORM LOAD EACH JAMB | i~ !
DOOR | eyt ) O
WIDTH {
16—2" | AL $229.6/-260.3 | N
i g

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

THE DRAVINGS AND ALL DTHER INFDRMATION CONT, HEREIN ARE THE
mnmmrmn.mvm.:mmpm,mvumrmmmm

OF_THIS DRAVING DR INFDRMATION IS

mmnruvmmmmmmumnsmumm
ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF

MANNER DR DISCLOSED TO
DTD[PERATEASALMISEIRMII‘HIRIZATWNTDLISEHFWMNHRPBEV‘IHIII‘I’THESPEW

MAT.IDN. NO nm.usun: OF
OF DVERHEAD DODR CORPORATION.

e

m UMLESS OTHERVISE SPECIFXED FINISH T o The Crighed DATE m TILD
VHILE N/A s, 45174230 4277 425/ 434/436,
UNDER 251 +nn4/-noa NUMBERS: £ 25 "' CLark | 114721 27/429/4 s
T Ny IIVEl‘llmsm'fm doal}s/“-n.gns % i UNIT OF | mmesas e nTA 1/14/21 /7088 P, T8
+008/ XX + 03 J _QIAN MG
—_— US. CUSTOMRT XXX £ 010 HEASLRE N/A WPPROVED BV W D- 411799
USED OV 16 AGES S | EA T CLARK | 4/27/21 [om WA Jsei =3


chris
Texas


1/4—20x9,/16" TRACK BOLT
AND 1/4—20 HEX NUT
THROUGH THE SLOT IN THE

TRACK AND TRACK CLI 4

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER, ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE’ SCREWS

3" STEEL ROLLER WITH 7/16” DIA. |
x 9" LONG STEM AND 7/16" H
PUSH NUT AT TOP ROLLER
LOCATION. 1/4° MAX BETWEEN
PUSH NUT AND BRACKET.

ADD (2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE

2" STEEL ROLLER WITH

5-1/8" STEM AND 7/16" 7P

PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX H
BETWEEN PUSHNUT AND [
BRACKET OR HINGE ;

14 GA WIDE BODY END
HINGE TO ATTACH SECTIONS
ONE AND TWO.

13 GA WIDE BODY END
HINGE TO ATTACH
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4)
1/4—14x7 /8" SELF DRILLING
CRIMPTITE SCREWS

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7/8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4-14x7/8" SELF DRILLING

CRIMPTITE SCREWS (2 THROUGH \~.

STRUT AND BRACKET)

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +28.4/-32.2

MAX WIDTH: 16'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

8 7

. ———(2) 1/4=14x7/8" SELF DRILLING
. CRIMPTITE SCREWS

HALF HINGE
(2) 1/4 x 1/2"

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

ATTACH U—BARS WITH
(2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

o d
J.C. VOELKEL ¢

TI'E]RAVWANDALL \TIDN CONT/
N,me.E[RmPART,HAYNDTEcﬂPIEIIINMNWIER[R
INFORMATION IS INTENDED TO

AND INFDRMATIDI
ANY DF THIS DRAVING DR

an

(6) SECTION DOORS WITH
(9) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH

(8) 3* 18 GA 80 KSI
OCATED A

(4) SECTION DOORS WITH
(6) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

OTHER INFORMA!

(12) SECTION DOORS WITH
(18) 3" 18 GA ao KSI U—BARS
D AS SHOWN

(11) SECTION DOORS WITH
(17) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(15) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

() SECTION DOORS WITH
(14) 3° 18 GA 80 KS| U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(12) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

U—BARS
S SHOWN

AND PROPRIETARY PROPERTY.
ANYDNE VITHOUT THE PRIDR

DISCLOSED T VRITTEN CONSENT OF
[PERATEASALMISE[RMII‘H[R]ZATII]NTDUSE]'I'FIRMNPIRPBIV'IHI‘.II'I'THESPEW

rwmtmmunmmumrrsmmm
MAT.IDN. NO nm.usun: OF
OF OVERHEAD DODR

'CVRI.':‘EI CORPORATION.
T P e Py %ﬁp@ﬂ,gwaum,
"% 133174 Ry - T I
. ¢ 60 ."Q/ A TTEARK | 427721 o ]NJ/_A 41|17929 3
O e / o* jsows ST D OF
20 /CENSY
WSS e : | '
WJ/ONAL B



chris
Texas


8 7 6 S 4 3 e 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE EGOXX MIN. DLO= 5"X20"
TRACK CLIP
. OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4—20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
1/4—20 HEX NUT- EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
Loz AT aon-ove
\TION
SUBSTRATE.
FOAM TAPE !IIIRWN“NG PWALL ANGLE-
BUTYL TAPE
a7 swereeaD PLASTIC FRAME X BT A0
1/8" ANNEALED DSB GLASS (MIN) ;n/:;‘
DLO= 5 3/4"X22 7/8" 00D NOUNTING DETAIL — ANGLE QUT
(10) #8X2" SHEETMETAL SCREW
LOVER INT, RAIL (1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
2 3/4" 2 naéq'
oISt IN EDGE DIST

CONTINUOUS
WALL ANGLE

(2) 1/4" x 716
SEMI TUBULAR :
RMTS OR (2) |
1/4"-20 TRACK \

BOLTS WITH
OR (2) .28"
RESISTANCE
WELD

NUTS™,
DIA
SPOT

UPPER INT. RAIL Pl
VITH 225° FIN

TIC FRAME (IN

STATIC PRESSURE RATINGS

APPROVED SIZES

J. C. VOELKEL

MAX WIDTH: 16'-2"

DESIGN PRESSURE(PSF): +28.4/-32.2

MAX HEIGHT: 24'—1"

’....--...-............-..-....,

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

s

8

7 I

TED

3/8" SMPSON TITEN HD,
2-3/4" MIN_EMBED INTO
NIN 2000 PSI CONCRETE
AT EACH HOLE OR PAIR
OF HOLE LOCATION:
MOUN“NG WALL ANGLE-
TRACK CuP

Rysmar
1/4-20 HEX NUT-

TPEMVWMBALLDTIERM \TIDN CONT/

N.]NVHI.E[R]NPART,HAYNDTEGBPIEIIINMNWIER[R
INFORMATION IS [INTENDED

AND INFDRMATIDI
ANY DF THIS DRAVING DR

133174 &4

0,2 Q .."Q‘f/d
'!%' OENSE S

\\\\s\‘

REF_DWG

DISCLOSED T CONSENT OF OVERHEAD DOOR
TD[PERATEASALMISE[RMII‘H[R]ZATII]NTDLBEHFIRMVHRPBIV‘IHMTHESPEW'CVW

12GA_SCAB BRACKETS (OPTIONAL)
L © 12° SPACING SECURED TO WALL
* |/ TANGLE WTH 1/4-20 TRACK BOLT
AND 1/4-20 FLANGE NUT

3/8" SMPSON TITEN H,
2-3/4" MIN ENBED INTO
MIN 2000 PSI CONCRETE
AT EACH HOLE OR PAIR WALL ANGLE FAGING
OF HOLE LOCATION: IARD

TRACK CLIP
BTl

1/4-20 HEX NUT-

M 3/18" THICK
STEEL FOR MOUNTING
MOUNTING WALL ANGLE 1/81N\2-24 /eaouy N,

TRAGK GUP— OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
K:—zq;:{u mo STEEL WTH MIN. (1) |/4-zox7/r
\CK T AND SELF DRI WITH 1° 0.D. WASHER A

1/4-20 HEX NU EACH Hu.z oa PAIR OF HOLE LOCATIONS N

TRACK:

AND PROPRIETARY mﬂrwmtmmunmmmmmmm
ANYDNE VITHOUT THE PRIDR VRITTEN MAT.IDN. mnm.usunnr
CONSENT OF OVERHEAD DODR

CORPORATION.
DATE DRAVING TITLD

e — WINDLOAD,OPTION CODE

P CLark | 114721 s, 40174230 427/ 425/ 434/436,
ey 4/-322 PSF, 16'-2" MAX

J_QIAN 1/14/21
e B2 D- 411799

T CLARK | 4/27/21 e WA Jewmsw 3



chris
Texas


		2021-05-03T10:30:21-0500
	John Christian Voelkel




